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Crypto Puzzles - Solutions

1) Q: Why is it hard to play cards in the jungle?
     A: There are too many cheetahs!

1) Q: What did the Sheri� of Nottingham say when Robin �red at him?
     A: That was an arrow escape!

1) Q: How did the Vikings send secret messages?
     A: By norse code!

2) Q: Why did the tomato blush?
     A: Because it saw the salad dressing!

2) Q: Why did the teacher become cross-eyed?
     A: She couldn’t control her pupils!

2) Q: What is white when its dirty and black when its clean?
     A: A blackboard!
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3) Q: Why didn't the skeleton cross the road?
     A: Because he didn't have the guts!

3) Q: Why did the chicken cross the basketball court?
     A: He heard the referee calling fowls.

3) Q: What did baby corn say to mommy corn?
     A: Where's popcorn?

4) Q: Why did the boy keep seeing talking animals?
     A: He was having Disney spells!

4) Q: Why did the woman name both of her sons Ed?
     A: Because two Eds are better than one.

4) Q: What makes more noise than a dinosaur?
     A: Two dinosaurs!

5) Q: What happened when the dog slept under the car?
     A: He woke up oily next morning!

5) Q: Why were the early days of history called the dark ages?
     A: Because there were so many knights!

5) Q: What do you get when you cross a frog and a bunny?
     A: A ribbit!


